BODMAS Questions Worksheet

Simplify 25 — [20 — {10 -(7-5-3)}

Find out the answer for 100 — 3 [20 + {50 — 40}]

7 + (8 -3%2)

What would be the answer for 50- [20 +{ 30- ( 20- 5)}]

Find the value of 150- [10 +{ 3- ( 20- 5)}]

Simplify 15 3/7 x (6+8X3-2)+ [1/5% 7/25 — {3/7 + 8/14} ]

Suing the rule of BODMAS, determine the answer of 18 ¢ 10-4 + 32 3 (4+ 10 3

2-1)

8. 10-[6 -{7 — (6- 8 — 5)}] solve the following

9. What will the answer of this question 5x V4 ¢ 3/7 + [45/24- 2/3 + 5/6 x 2/5]

10.1800 ¢ 10 {(12-6) + (24 — 12)}

11.1/2[{-2(1+2)10} 15] x 3

12.20-[6-{4 - (8 -6 + 3)}]

13. According to the BODMAS rule, find out the value of y: 36 ¢ 2 +yx3-22=8

14.Determin the correct answer for- (1/4 + 7/4) — 2

15.45 x 3 x 7 x [22/11+ 36/12]

16. Solve this quetsion using the BODMAS rule 2 [2 + 2 {39 -2 (17 + 2)}]

17.Solve this BODMAS Question (17 x 18): 10 x 2 (2+ 13)- 25

18.(3 + 3) x (3 2 3) x (3%3) solve this problem using BODMAS rule

19.2550 - [510 {270 — ( 90- 80 + 70)}]

20.[29- (- 2) {6 — (7 — 3)}] = [3 x {5 *+ (-3) x (-2)}] solve this complex equation using
the BODMAS rule

21.63- (-3) {-2 -8-3} ¢ 3 {5+ (-2) (-1)}

22.What will be the answer of this BODMAS question: 27 — [38 — {46 — (15- 13 2)}]

23.25-1/25{5+ 4 — (3+ 2- 1 + 3)}
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